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def hanoi(n,C,B,A):
ifn>0:
hanoi(n-1,B,C,A)# C%fE-> TA®Dn-1Y > 7 5B
print ("disk "",n," from=", A," to=",C)#nY > 7 AN L C~BE
hanoi(n-1,C,AB) # A% > TBDOn-1Y > 75 C
elif n==0:
return None

# hanoi(V > 7 D%, H LA, X & — M)
>>> hanoi(3,"C","B","A")
disk 1 from=A to=C
disk 2 from= A to=B
disk 1 from=C to=B
disk 3 from=A to=C
disk 1 from=B to=A
disk 2 from=B to=C
disk 1 from=A to=C
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hanoi(n-1,B,C,A)# C%ff» TA®n-1Y > 7 HB %Bn EIRa2
print ("disk ",n," from=", A," to=",C)#nY T EZANLLC~BEH
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def hbanoi(n,C.B_A):
irfm= 0:
hanoi(n-1,.B,C_ A) # CE i o> CADODn-11UJ - 27 H>
e f ?53 & C-—~—~FEHh

print (""disk "".,n." from=""_ A" to="", C)# n U
hanoi(n-1,. C A B) # AZ {E > TBOn-1YU - 27 Ha
elif n=—=—=0:

return WNone

# hanoictV >~ 27 o #FEr, H etk =42 &2 — T~ &)

T haﬂ'ﬂi(d-,”C”j”B”j”*i”)

disk 1 from=A to=B
disk 2 from=A to=C
disk 1 from=B to=C
disk 3 from=A to=B
disk 1 from=C to=A
disk 2 from=C to=B
disk 1 from=A to=B
disk 4 from=A to=C
disk 1 from=B to=C
disk 2 from=B to=A
disk 1 from=C to=A
disk 3 from=B to=C
disk 1 from=A to=B
disk 2 from=A to=C
disk 1 from=B to=C
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Blm (&) (recursive

| (inductive))

& [ E

m0l=1and 1! =1

s (n+ 1)) = (n+1)*n!

® D4R FyF 8 (Fibonacci number)
= fib(0) = 0, fib(1) = 1
m fib(x) = fib(x —2)+ fib(x—1) x>1andx €N

® D4R FvF8F| (Fibonacci sequence)

= /0,1,1235,8, 13, 21, 34, 55, 89, 144, 233, 377,
610,...]




Blm (&) (recursive
(mductlve))

f\

é*% import functoeols
import sys

def factorial (n):
if n == 1:
return 1
else
return n * factorial(n - 1)

def applicativeFactorial (n)
def mult(x,y): return x * y
return functeools.reduce (mult, range(l,n+l))

def iterFactorial (n)
retval = 1
for i in range (n,0,-1)
retval = retval * 1
return retval




BIF (JFE#) (recursive(inductive))
T4 RFVF 8. HFI

def fib(x):
global numFibCalls
numFibCalls += 1
1t x==0:
return O
el x==
return 1

else:
return fib(x-1)+fib(x-2)

def testFib(n):

seq = []

for 1 in range(n+1):
global numFibCalls
numFibCalls = 0
f i = fib(i)
print("n=",i, " ®7 87 » FEHE,Tib(i))
print(" 7 44 F o F JFE'H;EI (3 numFlealls OGRS T)
seq.append(f i)

return(seq)

fib seq = testFib(1b)
print("¥n %l - 7,fib_seq)
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Bls (JF#8) (recursive
“(inductive))
@,) \illff}ﬁ & (divide-and-conquer)
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X (is Palyndrome)

N

def

isPalindrome(s):
sent=s
print("Start...")
def toCharsi(s):
s=s. lower ()
letters=""
for ¢ In s:
If ¢ in "abcdefghijkImnopgrstuvwxyz’ :
letterst=c
return letters
det isPal(s):
print(’isPalBEE(d .5, X TR THHT. )
1t len(s)<=1:
print(sent, [JO¥ Td&Hs.")
return True
else:
print(s, OOIX#ksH5.")
answer=s[0]==s[-1] and isPal(s[1:-1])
return answer
return isPal(toChars(s))

reply = isPalindrome( aba’)
print(7[O]& : ",reply)
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